Carcurus II1
SPRING 2019 LINES AND PLANES

Example 1. Find a vector equation for the line through (—1,2,3) and (2, -2, 5).

Example 2. Find a vector equation for the line through (5, —6,7) that is parallel to the
line with parametric equations xr =14+t y =2, 2 = 3 + 2t.

Example 3. Find the point of intersection of the lines from Examples 1 and 2.

Example 4. Show that the lines

Li:  (146,-3—5+20)
Ly: (4—s,—-34s,6+2s)

are skew (i.e. neither parallel nor intersecting).

Example 5. Find an equation for the plane containing the points (1,2,3), (—2,4,1) and
(0,6, —2).

Example 6. Show that the planes 22 —5y+ 92 = 6 and 4 — 10y + 11z = 0 are not parallel.
Find parametric equations for their line of intersection.

Example 7. Show that the planes 3z — 2y + 2z = 12 and = + 3y — 52 = 7 are not parallel,
and find the acute angle between them.



